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#Partial Derivative

Let z = f(x,y)
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# Tangent plane

Find tangent place to 8=x3-2X +xy
plane y =2 plane X=1

+1 at (1,2) 7 and two vectors.That gives us a
The we came just:
Cross get normal vector

= Shift plane to contain points

General formuda:
# Gradient

Let 2=fix, y)

== fla,b) +fisca,b) (x-a) + faca. b)(y -b) « (If it exists)

Extends to more variables
The gradient If= ifs, fyi
Theores: of he for,y,a, is a loved supace, the tangent plane at carb, ed is

If. Ix-a, y-b, 2-c>=0 that's alend curfaceEx: say == fly,y) = 0=
a(fex, y) -2) = falx, y)'
alfex, y2-2) =fylo, y)
a(fix, 41-2) =-1

Then tangent plane at la, b, fearbs) is
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